TABLE CWGS-1

NOTES:
A GUARDRAIL TRANSITION
1. See Standard Drawing E 601-CWGS-03 for General Notes.
<25 Type WGB
> 25' Type TGB

Req'd. shoulder

_ |
€ width |
2 I
____________________ ]
T ' T I IITITICT
A 25'-0"
Bridge railing
W-beam guardrail Guardrail transition
(See Table CWGS-1)
\\ Curved W-beam guardrail 250" minimum
connector system
| I
| L ec|
| 2'-0" min. clear — |
| ol INDIANA DEPARTMENT OF TRANSPORTATION
| G
I houiaer width — | CURVED W-BEAM GUARDRAIL
| Tt CONNECTOR SYSTEM
| b—1+
| T3 SEPTEMBER 2003
| _ | H §, STANDARD DRAWING NO. E 601-CWGS-01
| Public roa.d | = oy DETAILS PLACED IN THIS FORMAT 09/04/12
| approach width | 3 ot VO;; g////
| I = y & /s/ Richard L. Van(Cleave 09/04/12
! SUPERVISOR, ROADWAY STANDARDS ~ DATE
PUBLIC ROAD APPROACH INSTALLATION
AT BRIDGE END /s/ Mark A. Miller 09/04/12
CHIEF ENGINEER DATE




Limits of Curved W-
€a
YU

Guardrail transition type WGB@

or W-beam guardrail

Hatched area shall remain free of
[ fixed objects (See Table CWGS-2)

IR

3K

%
3RS
0%

K5
SXLHHKLK
KRS

K5
K5
JKHK

Edge of Travelway\

Terminal end buffer@

a L
Slope 15:1 ;

TABLE CWGS-2

or flatter

REQUIRED AREA FREE

rapius | NO- OF CRT OF FIXED OBJECTS
POSTS
LxW
86" 5 25' x 15
170" 30' x 15'
25'-6" 8 40' x 20'
35'-0" 11 50" x 20"

Slope 15:
or flatter

2'-3 3/4"

""| 3/4" @ hole

5/8" @ x 10" button head
bolt with round washer
and hex nut

2|_0|l I

Y

PR —

SECTION A-A

8" x 1'-2" wood block
16d Nail

u5| 6" x

Q

g
) 6" x 8" x 6'-0" wood post
:-.ﬂ /

2'-3 3/4"

@CRT post~/:/

5/8" @ x 18" button head
bolt with round washer
and hex nut

2[_0" |

ma

L J
SECTION B-B

NOTES:

1. See Standard Drawing E 601-CWGS-03 for General Notes.

@ See Standard Drawing E 601-TWGB-02 for guardrail transition

type WBG details.

@ See Standard Drawing E 601-CWGS-06 for CRT post details.

See Standard Drawing E 601-CWGS-04 and 05 for terminal end

buffer details.

INDIANA DEPARTMENT OF TRANSPORTATION

CURVED W-BEAM

GUARDRAIL SYSTEM
SEPTEMBER 2011
STANDARD DRAWING NO. E 601-CWGS-02
DETAILS PLACED IN THIS FORMAT 09/04/12
(6//’//// /s/ Richard L. VanCleave 09/04/12
% SUPERVISOR, ROADWAY STANDARDS ~ DATE
5| Jo/ Mark 4. Miller 09/04/12
" | "CHIEF ENGINEER DATE




GENERAL NOTES

. This drawing shall be used in conjunction with Standard Drawings
E 601-CWGS-01 through -06, and E 601-CWGT-01 and -02 where a
curved W-beam guardrail system is specified.

. The type of curved W-beam guardrail system to be used shall be as
shown on the plans in accordance with Table CWGS-3.

. Except where otherwise shown, all hardware and installation shall be the
same as for the guardrail specified for the adjacent run.

. A curved W-beam guardrail terminal system shall be used to terminate a
run of guardrail only at a driveway. For a public road approach, a curved
W-beam guardrail connector system shall be used.

. A maximum of two guardrail panels may be omitted from the curved
W-beam guardrail terminal system only where the bridge railing falls
outside of the clear zone and the plans specifically state that panels

are to be omitted. See Table CWGS-03 for the number of guardrail
panels to be removed for each type of curved W-beam guardrail system.

@ For the 8'-6" radius curved W-beam guardrail terminal system,

guardrail shall not be bolted to this post.

@ The embankment slope behind the curved W-beam guardrail system shall

be 2:1 or flatter.

A minimum 4 ft width shoulder shall be used with a 15 ft minimum drive

radius.

@ This dimension shall be 5 ft for the 35 ft radius curved W-beam guardrail

connector system.

TABLE CWGS-3

CURVED W-BEAM GUARDRAIL SYSTEMS

TYPE

NUMBER OF 6'-3"

RADIUS PANELS REMOVED

TERMINAL SYSTEM

8'_6"

8!_6"

8'_6"

17!_0"

17'_0"

17'_0"

25'-0"

25'-0"

W (N[O | WIN |

N(R|IOIN|,RIOIN|R~L|O

25'-0"

CONNECTOR SYSTEM

=

25'-0" 0

35'-0" 0

INDIANA DEPARTMENT OF TRANSPORTATION

CURVED W-BEAM
GUARDRAIL SYSTEM

SEPTEMBER 1999

STANDARD DRAWING NO. E 601-CWGS-03

DETAILS PLACED IN THIS FORMAT 09/04/12

VWL
W 1,
/

®

/s/ Richard L. Van(Cleave 09/04/12

SUPERVISOR, ROADWAY STANDARDS DATE

/s/ Mark A. Miller 09/04/12

CHIEF ENGINEER DATE




3/4" @ x 9'-0" cable with swaged end
tightened to eliminate slack

NOTES:

1. One 5/8" @ x 10" bolt with nut and washer is required per

| 4

curved W-beam steel tube and post.

2. Plate washers shall be used only where indicated.

) p— E—

Wood breakaway

Anchor cable assembly (see detail)—

PLAN

6'_3"

10" O.D. steel schedule 40 pipe

post (typ.) 1-0" 1-4" 3/4" @ hole 3/4" @ x 9'-0" cable
Anchor plate
(see detail) s ((-I/
= | :|
T Terminal end buffer | RN
« — >~ L (see deta) - | - i TS21/2" x 2 1/2" x 1/4" x 8"
(e0) < ~%
o — ? 2on N e e 5/8" @ x 1" hex head bolt | by /
~l B r — _* B ﬁy}jx/ A — | and hex nut with plate washer : : : /' |\H
—— der bolt head and nut
R s e 2 == un | I
—<_| o} —p— 3/4" cable clips | L I L_—— Anchor Cable Assembly
&N N (6 required) | L =]
_— TS21/2"x2 1/2" x 1/4" x 8 [ d.2 | e
"X "x1/4" x 8" Std. 2" I1.D. pipe sleeve | |
[ — "
— — (23/8"0.D,) \Ii 3"x1/4"x21/2"
1/4" 1" @ nut and washer 1" @ nut
Soil plate__~" 5/8" x 10" bolt, Bearing plate
(typ.) nut, and 2 washers (see detail) SECTION B-B
5/8" x 8" bolts, nuts, and .
2 washers (2 required per post)
Steel tube/
(typ.)
POST B TYPE 5 ANCHOR POST A INDIANA DEPARTMENT OF TRANSPORTATION
ELEVATION
- CURVED W-BEAM
6'-6" GUARDRAIL SYSTEM

1" @ x 7' lenght stud,

threaded entire
| length
L2

SETEMBER 2011

STANDARD DRAWING NO. E 601-CWGS-04

51/4"
3/8" }‘ .‘ 3/8" 3/4" @ cable to be swage connected W,
B / o s/ Richard L. VanCleave  09/01/11
[T A | C_ T
DESIGN STANDARDS ENGINEER DATE
\ —15/8" —1U4 [ :
3/4" @ (1/4" x 3/4") galvanized cable

Standard swaged fitting and stud /s/ Mark_A. Miller 09/01/11

ANCHOR CABLE ASSEMBLY ) CHIEF HIGHWAY ENGINEER DATE

TR

DESIGN STANDARDS ENGINEER




Contour to fit
over W—beam rail

7.

SECTION A-A
TOP VIEW

W-BEAM END SECTION (BUFFER)

ASplice bolt
rd

L1 [/

3

of—1o4

1'-6 min|

-6 J W-beam end SIDE VIEW
‘ T section (buffer) —_—
TOP VIEW
TERMINAL END BUFFER
2;];” 1"¢ high strength

hex nut

Splice bolt slots

29
32

SIDE VIEW

slots %29” X lé”

GENERAL NOTES

1. This sheet shall be used in conjuction with Standard Drawings
E 601-CWGS-01, 02, 03, and 06.

An alternate single piece having a similar dimensional shape to the
terminal end buffer and mating with the W-beam guardrail may be
used.

x 14"

The W-beam terminal connector shall be steel of 0.138 inch
thickness (10 gauge).

1'-6 min,

If the W-beam terminal connector is lapped on the outside of
the guardrail, a galvanized 1" 1D. 2" 0.D., 0.134" thick, narrow plain
washer shall be placed under the splice bolt heads.

Attach the W-beam to the steel pipe with a g” diameter x 1211” length
button head bolt with no washer. No connection to the post is
required.

Nuts for the anchor cable assembly shall be hand tightened, plus
one complete turn at the anchor plate end. All other nuts shall
be torqured to 50 ft.-lbs.

Neutral axis of
rail element

M10 hex head bolt and
hex nut with cut washer
on front face of rail

element. (8 required)

/H%” bent plate
b b

Cable

assembly

D

INDIANA DEPARTMENT OF TRANSPORTATION

CURVED W-BEAM

' 2% holes for §" bolt I I I |: N4 APRIL 1996
oles or olls
\ on ! 4 ! 4 ! 4 ! on ‘ ' STANDARD DRAWING No.E 601-CWGS-05
1116”;3 hole T T T T Rail element i *“““"ﬂ}éﬁg’"» DETALS PLACED IN THS FORMAT  11-15-99
LEFT END VIEW I-4 in position 7 E ey
-_— N 2| 5 s/ Anthony L. Uremovich 11-15-99
- | E DESI GN STANDARDS ENGI NEER DATE
ANCHOR PLATE

) PR

GUARDRAIL SYSTEM

RIGHT END VIEW
/s/ Firooz Zandi 11-15-99
DATE

CHI EF H GHMAY ENG NEER
ORIGNALLY APPROVED

[DESI GN STANDARDS ENGI NEER 4-01-96




51/2" 71/2" |6" - 8_.|" NOTE:
Centerline f )
/ R L [ zrlli;r:rlr:]:ntor A f\' | / 3/4" @ hole (1) The TS 2 1/2" x 2 1/2" structural tube shall be welded to Post B only.
& B B / | B ] %1_ 3 K ::_' £ See Standard Drawing E 601-CWGS-04 for location of Post B.
]
TS 2 1/2" x 2 1/2" x 1/4" X g @ | IR — /i
S -, | 3/4" @ holes | [
8" Cen_terline for | E; i |
:_'l L“_ij 17 alignment "7 B —,J /Gb B |
1 —J====3" - - < ¢ - . =1 — A am
|/NK\\\7&\Y TSI AT TSRS LRSI _T_TWWNWA\Y/KL'WNNNA
S ‘ ] / \z 3/8" @ hole with |1 o T 123 12" 6 holes
o / ? /ﬁ std. 2" 1.D. pipe B | ol 2 |
" " — KZJ - ‘ sleeve (2 3/8" O.D.) ’—| - ’—‘I
mooz i ZL A\s 1/2" x 7 1/2" -t |-
"_ —" | Treated |__T__ T - - | T\IL/"I -
timber post — | —1
I FRONT VIEW SIDE VIEW ]! B
I B | 6" x8" tested timber post
" " i " " WOOD BREAKAWAY POST |—’/| ¥ |/
| BN i i
I " | 158 x6x 3/16" ::F,( ;F/:
| N I -
| || | ||
I I I I FRONT VIEW SIDE VIEW
L R CRT POST
|
FRONT VIEW SIDE VIEW
STEEL TUBE INDIANA DEPARTMENT OF TRANSPORTATION
g
o ; 1/2"
POST B 2-0 S —— — CURVED W-BEAM
o | 6" | o , N R 1" x 3/16" x 8" GUARDRAIL SYSTEM
T :
1/4" steel plate—_| | [ ‘ ]J e SEPTEMBER 2011
[ ] | w18 | il STANDARD DRAWING NO.  E 601-CWGS-06
] | f:l, / L | N DETAILS PLACED IN THIS FORMAT 09/04/12
/4Q N 5/8" steel pIateJ = \\\\\\% (T VQOg//’//,
o ¥ (e /s/ Richard L. VanCleave 09/04/12
3/4" @ holes— | - 11/16" & hole - SUPERVISOR, ROADWAY STANDARDS ~ DATE
FRONT VIEW SIDE VIEW
/s/ Mark A. Miller 09/04/12
SOIL PLATE BEARING PLATE CHIEF ENGINEER DATE




	E601-CWGS-01
	E601-CWGS-02
	E601-CWGS-03
	E601-CWGS-04
	E601-CWGS-05
	BACK

	E601-CWGS-06

